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1. Describe the pattern. 1, 4, 7, 10, 13

2. 240 ÷ 6 = ?

3. If 1 km = 1,000 m, then 2 km =  m. 

4. Which lines are perpendicular?

5. Fill in the denominator to show an equivalent fraction.

6. If NOP is a straight angle, what is the measure of s?

7. 

8. Write the base-ten number for

3,000 + 400 + 60 + 9.

10. 52 × 47 = ?  Complete the matrix

11. Is 13 prime or composite?  Explain.

12. Find the perimeter of the rectangle.  Label the answer.

13. 938 + 486 = ?

14. Fill in the sign that makes this number sentence true.      344,723  244,723 

The numbers are the same until the                      place.

15. Mina grew 3 times as many centimeters as her older brother.  He grew 4

centimeters.  How many centimeters did Mina grow?

Sample Lesson #1
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1. 2. 3. 

4. 5. 6. 

7. 8. 9.

10. 11. 12. 

13. 14. 15. 

4.OA.5  4.NBT.6  4.MD.1

  4.G.1 4.NF.1 4.MD.7

4.OA.3 4.NBT.2 4.NBT.4

 4.NBT.5 4.OA.4 4.MD.3

 4.NBT.4 4.NBT.2 4.OA.1


